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e It is recommended that you spend ten minutes reading the paper and planning your
approach before the examination begins.

o No written material may be taken into the exam room.

e Please note marks value of each question and allocate your time accordingly. Note
that although a question may only be worth 5, you should note that they are still
significant i.e. all questions are either out of 5 or 10.

e Closed book exam

« Total marks for exam paper out of 50

PART A - ANSWER ALL 6 QUESTIONS
Question 1
What types of activities fall within the realm of human resource management?

5 marks
Question 2
If a manager is interested in building a business with a strong and sustained ability to be
innovative, why must they pay attention to and commit to effective human resource management
practices?
5 marks
Question 3
What IS innovation and why is it important?
5 marks
Question 4
All types of innovation begin with an idea. Where do ideas come from, i.e. what are the sources of
ideas that may lead to an innovative product/process or service?
5 marks
Question 5
What are the advantages and disadvantages to employers and employees of a regulated system
of industrial relations such as the Australian Industrial Relations Commission?
In what circumstances would you, in a middle-management position, advocate making use of the
system or avoiding the system?
10 marks

Question 6 —note this question contains 10 short answer questions.

()  What is a contract?
i) What are the six requirements for the formation of a contract?

PLEASE SEE NEXT PAGE
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iii) Explain the parol evidence rule.

iv)  What are the two presumptions in relation to the evidence of intention to create legal
relations?

V) When can an offer be revoked?

vi) Is conditional assent acceptable in acceptance?

vii)  If A says to B “I will fix your car” and B says “ok”. Is this agreement legally enforceable?

viii)  What act protects consumers through negligence?

ix)  What are the three elements of negligence?

x) Define unconscionable contract

10 marks

PART B — SELECT AND RESPOND TO 1 ONLY FROM THIS SECTION.
Question 7
Managers often make the comment that, of all their responsibilities, dealing with people and
managing them is the most difficult or most challenging. Why do you think they think/say this?
What have you learnt -about managing, about managing human resources, about innovation, as
a result of the interview you conducted during this course? Has anything from that interview really
stood out as a ‘key learning point’ for you?

10 marks
OR
Question 8
Employee motivation is important given the links between motivation and innovation. What is the
link between motivation and innovation, and what might a manager do to ensure employees were
highly motivated and committed?

10 marks

OR
Question 9
In this course we have touched briefly on the large issue of business/managerial ethics. What
views do you have regarding the role that ethics plays in the workplace, whether from the
perspective of a manager or generally (i.e. the behaviour of employees and the ethical nature of
the whole organisation) Should organisations have policies that set out for the organisation what
ethics and values will be upheld?

10 marks

. OR
Question 10
You overhear a conversation between a disgruntled manager and a casual employee (i.e.
employed on a casual basis as distinct from permanent or contract.) The subject of their heated
discussion/argument may be summed up as follows:
Manager's point: the employee is a casual member of staff, so does not really care all that much
about the quality of their work or even whether they take ‘sickies’ when they are not really sick.
The manager finds this totally unacceptable. The amount of work they can give to the employee
“varies in line with the contracts the business wins. (It is a small firm.)
Employee’s point: the employee never knows from one week to the next how much work they will
have (as a result of being casually employed) and so this person does not feel like the business
or the manager has ‘earnt’ his commitment.
Neither side is very happy!
You are invited to join in the conversation... what would your views about the entire situation be?
i.e. what might be done to result in a better outcome for both employee and business/manager? If
you were the manager, what would you do?
: 10 marks
TOTAL FOR EXAM 50 marks

PLEASE SEE NEXT PAGE
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